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5319
B.Com. (Part-II) Examination, 2020
COMMERCE
(Group-A)
Paper - I
(Cost Accounting)
Time : Three Hours | [ Maximum Marks : 100

Note : Attempt all sections as per instructions.

w9 s & IR PR e
Section - A / @us - 3

Note : Attempt all parts of this question. Give an-
swer of each part in about 50 words. Each
question carries 02 marks. 10x2=20
39 W & w9 &1 IR A5l 7RI Wi @
IR T 50 Il # Sl ve e 02 3it

&1 2l
1. (i) What do you mean by Cost?
T Y 3T T THHS &7
(i} Discuss material.
[T B FA|
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(i) Define cost accounting.
AN raie B UReRE R
(iv) Explain financial accounting.
g oraie & e ]|
(v) What is time wages.
THANER AT o 27
(vi) What is Unit?
SPls a1 &7
(vii} Discuss normal wastage.
AW &1 B ] B
(viii) Define product.
T @1 o &t
@ What is by-product?
JearE T &2

(¥) Distinguish works-on-cost and works

cost.

FREH R @ 3R SREFT a9 § 3R

DI
Section - B / @Ug - §

Note : Attempt all questions. Give answer of each

question in about 200 words, Each ques-

tion carries 10 marks.
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| I B IR A0 TS T BT IR TR

200 T/ 7 B UAS YT 10 DT BT 2
Write a brief note on "Costing as an Aid to
management.
"ENT AED TGUDT & o8 U Wl W) Hiea
feuott feRae

OR /31yan

wing mformation, Calculate Eco-

nomic Order @Quaﬁti
6000 units;

order cost p

. Annual usages

) thg} material per unit. T 2.5,
order

of one unit: 20%.4f inventory value.

FrfaRea g@emi & smarR R i amew Am
(EOQ) @ 7o Hifore| af¥es 3wam 6000 sHEaT,

ufc 3R @ 2.50 T Wi 3R e & AN, 15 2

wiT B 0P 3% O 0P a4 TG B a0 Iurl

Hed &1 20%

Explain the general principles of Cost Account-

ing.

IS o & W Ragrd &1 @ren st

OR/3Ydal
Distinguish between Cost Accounting and Fi-

15, Annual caring cost

nancial Accounting.

TR eRaie ve i ?ﬂaﬁm A 3R DI
5319 P.T.0.
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@ Explain the ABC analysis.

H-§-9 dle &1 aui Dire!
OR/ 3erdl

Calculate the machine hour rate on the basis

of the following data-

Cost of Machine

Estimated scrap value after

the expiry of its useful life of 9 years ¥ 700

Annual running time of the machine 4000
hours

Power consumed by machine 5 unit per hour

Rate of power 8 Paisa per unit

Annual Factory overheads ¥ 9120

Charge one-sixth of the

¥ 18,700

~annual factory overheads to

this machine.

ﬁm%ﬁaama%%mwwﬂquaﬁﬁm
HifoTe-
7N & I

. 18,700 ¥
$Ud ITNT FieT 9 9§ & g
AT 3TIRTE Fear 700 2
eI @1 aI® Tod & THT 4 000HTC
HH gRT IfeRT & 39 - 5 gfe ufer der
wifeRd & & 8 &% wfy gfc
aiffes SREFT R - 9120 ¥
39 HEIM R A1 SRE
IRy 1/6 Mgl
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@. What is Process Account? What important

points should be considered in its preparation.
SifchaT ST o &2 gl SR & § b e
&1 &g H 3@ aifzel

OR/ 37251
The accounts of a factory show the following
information:

4
Materials consumed 40,000
Direct Wages 20,000
Factory overheads 16,000
Office overheads 11,400

Calculate -
(i) Percentage of factory overhead with
wages

(iiy Percentage of office overhead with Fac-

tory cost.
U6 BREM & o FEcad g v e &
_ - z
wgad AR 40,000
TeT WGy ~ 20,000
PREHT IR 16,000
Frawa URed 11,400
5319 P.T.O. .
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S Bifre-
(i) SREFT UREd B A & AR i

i) T 3URd BT BRI T & W dferera

5319

What is Contract Account? What important
points should borne in mind in its preparation?
31 @I T BT &7 SHP TR B H H-ie
T wre @ e # X e
OR/32ar

Show how you would deal with plant in 'X'
contract A/c with the following information:
In a year a plant was issued to contract on
1st March costing ¥ JBD,DDD. Plant costing ¥

3000 was transferre;d to 'B' contract on 31

.st. August. Plant coéting ¥ 2000 was stolen

and another costing ¥ 2000 was destroyed

by five. The plant was insured against fire to

the full value. Plant costing ¥ 5000 was sold
for ¥ 4500. Plant at the end of the year was
valued by charging depreciation @ 10% per

annum on 31st December.
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et e & 3 v 3T @ Wi @1 e R
B, fearsd- e af § 1 AR B 60,000 2 BN @
o I it fosar maml 3000 T & v @ @
31 3R BT T’ DT P e<iaRe [HaT T4T, 2000 T
BN AN BT ET °R & T AT 3T 2000 T @
AR B I H AL A T T8 e R 56T

 Siff-dimT TR 830 21l 5000 % H AN BT @i

4500 T ® a1 T o & arg W 31 R @ wre
10 wfereret it o g arst o< aEaifsa fosar |
Section-C /@Ugs -9

Note : Answer any two questions. Give answer

of each question in about 500 words.
@ﬁﬁr;ﬁ_mﬁaamé‘r%m Y U9 @l IR

FATH 500 vl H e 15x2=30
What do you mean by Incentive wage pay-
ment system. Discuss any Lwo methods of it.
SeHET Hofgd YAF Ui § 3T FOT e €2
zas el o) faftral &t s
The i;ollowing information is available from the
accounts of a manufacturer of a machinery
far:Ehe year ended -315t.March, 2019.

5319 P.T.O.
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4
Material consumed 50,000
Direct Wages 40,000
Factory overhead 10,000

Office overhead - 5000

Prepare a statement of cost and Calculate the
price which the manufacturer should quote for
‘manufacturing a machine requiring materials
valued ¥ 1500 and direct wages ¥ 1500. So
that the price may yield a profit of 20% on

selling price. .
v A frfar & ol @ 31 91 2019 & FAG 9§
& fore FefeRaa e v & € ¢ ‘

- 4
RITh T 50,000
UIEl "G 40,000
SRET IR 10,000
sriea 3uRke™ 5000

3T AT BT U Rrazor AR SR do v 9 B
fmfor & fore 3 ST arer gea & mom Sifse
1500 T B TFREN 2T 1500 T BT WOy Y @O @l

I &, IS 15 fpa 9ea w 20% @y v @
qb |
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. - The finished product of a factory has to pass

through three process (P, Q, R). The normal
wastage of each procesé is 2% in P, 5% in Q
and 10% in R, the percentage of wastage is
computed on the number of units entering each
process. The scrap value of wastage of pro-
cess P, Q and R are Rs. 10, Rs. 40, and Rs. 20
per 100 units respectively. The output of each
process is transferred to the next process and
the finished product are transferred from pro-
cess R into stock. The following further infor-
mation are obtained: |
P Q R
Rs. Rs. Rs.
10,000 5,000 4,000
10,000 5,000 6,000
2,000 4,000 2,000
20,000 units were put into process P at the
cost of Rs. 10,000. The output of each pro-
cess has been:

Material consumed
Direct labour
Manufacturing exp

- P-19,600 units, Q-18,400 units, R-16,700

units. There was no stock or work in progress

“in any process. Prepare the process A/c.

5319 P.T.O.
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ow tha @ i w1t o wfesansit P, Q, R W AR
ToRaT &1 T T ¥\ e e JeR R
P-2%, Q-5% Td R-10% Felies &1 H &5 31 Fiererd
sfar & R a% @ SHRAT @ Tl | S foa
AT 21 & o1 369 ge e YR &

P-10 % Ufd 100 34T, Q-40 T 4fd 100 FHEAT
e R-20 T 9fd 100 THEAT |

sredies AT 1 3 TEY AR 31 g7 O e
ST & i sodl R viear ¥ wi # W51 &
S 81 FrfaRaa s oA o B

uftrars
P Q R
3 4 z
Jad AT 10,000 5,000 4,000
Seaey ST 10,000 5,000 6,000
o o

2,000 4,000 2,000

10,000 T @ @M ¥ 20,000 THET Sfpar p @ _

Fffirer &t i SR sfibar @ S fe wow <
5fsar P-19,600, wfear Q-18,400, whsar R-

16, ?Dﬂml%ﬁﬁnﬁmﬂmma@m
T 21 Wi @ R Hsm
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10. The cost books of a company show a profit

https://'www.rmlauonline.com
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foe ve fomor w3 AR Hifse-

of ¥ 48,000 while a net profit as per Financial

faa=or

Books is ¥ 29,500. On the basis of the follow-

ing information prepare a statement of . FREE =T 20,000
remiting the two profits: - BRI Y 12,000
Particul Cost Books Financial - v a4 8000
ars ost Books )
articu ) o ]
Books = = - GHARR @ e W af -
Z 2 - i @ e -
- Factory Expenses 20,000 22,000 = = . .
- £ 5 - U3l R 1S -
- Office Expenses 12,000 10,000 3 = 11. Discuss in brief the different methods of Cost
- Selling and distribution S 5 Accounting.
Expenses 8000 7000 5 S o o @ fofim vglaal o1 daw A ae
© 2
S 2 DIl
- Dividend received - 5000 = =
- Loss on sale of furniture - 1500
- Income Tax - 10,000
- Goodwill written off - 5,000
- Interest on capital - 8000

Uh S D T I 48,000 & ¢TH TEfRid SRl
&, Srafes fomira qeaopt & SR Y& @4 29500 X |

5319 . P.T.O. 5319
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FrfoRea gom & 3MUR W &7 ot & A &

o geas faeia g
z 2

22,000
10,000
7,000
5,000
1500
10,000
5,000
8,000
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